WATERBOX

A.Q U AR

WB-MSII-7402

Waterbox Aquariums USA
320.W.Sabal Palm Place

Longwood, FL 32779
www.waterboxaquariums.com

WATERBOX

AAQUARIUMS

MarineShield
Aquarium Cabinet

MSII 4825/6025/7225

U M S

Cabinet Assembly Manual

USA: +1800-674-2608
Canada: +1 437 888 2612
Europe: +31 20 808 3685
UK: +44 1784 614175




WATERBOX"

A QUARIUMS

MY WATERBOX

Tank Model Tank Lot £

Cabinet Model

Purchase Date

Sellers

Address

WWW.WATERBOXAQUARIUMS.COM

WATERBOX"

A QUARIUMS

CONTENT

< Aquarium Cabinet

._

._

msw482 P01,
msweo2s P09 ,
mswr22s P17,




WATERBOX

AQUARIUMS

CABINET MSII 4825

Code Name QTY |Spare
C1203 | Leveling Foot 8
C1601 | Rebound Kit 2
Screw M3.5*20
C1602 | ¢, Rebound Kit 4
C1011 | Door Hinge 6
Screw M3.5x16
C1002 for Door Hinge 12
Screw M4x10
C1003 for Door Hinge 12
C1004 | Stainless Plate 6
C1701 | Silicone Pad(Clear)| 4 2
C1802 | Spanner 1
C1901 | Silicone Sticker (Black) | 30 5
C2001 | Logo 1
C3001 | Plastic Cover (Right)| 4
C3002 | Piastic Cover (Left) 4
—
—
A B
—
C
S/IN Name QTY S/IN Name QTY
A Cabinet Door 2 D Cabinet Lower Side Beam 2
B Side Panel 2 E Cabinet Middle Beam 3
C Bottom Panel 1 F Cabinet Upper Side Beam 2
G Cabinet Back Beam 1
H Cabinet Front Beam 1

01

02




WATERBOX CABINET MSII 4825

F

%
| - 7~(~}~ sl

— o 4
— K

N

pa—

03 04



WATERBOX CABINET MSII 4825

A QUARIUMS

Control Box
(OPTIONAL)
STEP14-17

/ 7/ /
=




WATERBOX"

AQUARIUMS

CABINET MSII 4825

c1601 /

= [

C1802

C1004X3

07

08




WATERBOX"

AQUARIUMS

CABINET MSII 6025

Code Name QTY |Spare
é C1203 | Leveling Foot 10
C1601 | Rebound Kit 3
Screw M3.5*20
C1602 for Rebound Kit 6
C1011 | Door Hinge 9
Screw M3.5x16
€1002 for Door Hinge 18
Screw M4x10
C1003 | for Door Hinge 18
A — C1004 | Stainless Plate 6
C
— 7 C1701 | Silicone Pad(Clear)| 6 2
W\ éf_
p¥t 7 C1802 | Spanner 1
8 N D/
E . 7 C1901 | Silicone Sticker (Black) | 40 5
é
C2001 | Logo 1
C3001 | Plastic Cover (Right) | 4
C3002 | Piastic Cover (Left) 4
—
1
G — A B
C
H
SIN Name QTY S/N Name QTY
A Cabinet Door 3 D Cabinet Lower Side Beam 2
B Side Panel 2 E Cabinet Middle Beam 5
C Bottom Panel 2 F Cabinet Upper Side Beam 2
G Cabinet Back Beam 1
H Cabinet Front Beam 1

09

10




\ANQATERBOX® CABINET MSII 6025

S——
N %%
®

11 12




WATERBOX CABINET MSII 6025

A QUARIUMS

Control Box

(OPTIONAL)
STEP18-19 = _ STEP14-17

13 14



WATERBOX" CABINET MSII 6025

AQUARIUMS

A
"
iy
@@%[@
®

‘i"

.
L

|

Tl

11
]

T
I

.
-‘.
- ——

(L £}

-
|

o

00
&)
C1004 N C1004X3
4t C3002 &/ _
- C3001
\
C3001
C3002

C1802

15 16




WATERBOX"

AQUARIUMS

CABINET MSII 7225

Code Name QTY |Spare
é C1203 | Leveling Foot 10
C1601 | Rebound Kit 3
Screw M3.5*20
C1602 for Rebound Kit 6
C1011 | Door Hinge 9
Screw M3.5x16
€1002 for Door Hinge 18
Screw M4x10
C1003 | for Door Hinge 18
A — C1004 | Stainless Plate 6
C
— 7 C1701 | Silicone Pad(Clear)| 6 2
W\ éf_
p¥t 7 C1802 | Spanner 1
8 e I~ D/
E . 7 C1901 | Silicone Sticker (Black) | 40 5
é
C2001 | Logo 1
C3001 | Plastic Cover (Right) | 4
C3002 | Piastic Cover (Left) 4
—
1
G — A B
C
H
SIN Name QTY S/N Name QTY
A Cabinet Door 3 D Cabinet Lower Side Beam 2
B Side Panel 2 E Cabinet Middle Beam 5
C Bottom Panel 2 F Cabinet Upper Side Beam 2
G Cabinet Back Beam 1
H Cabinet Front Beam 1

17

18




\ANQATERBOX® CABINET MSII 7225

S——
N
®

19 20




WATERBOX

AQUARIUMS

CABINET MSII 7225

STEP18-19 ,__

Control Box
(OPTIONAL)

STEP14-17

21

22



WATERBOX" CABINET MSII 7225

AQUARIUMS

A
"
iy
@@%[@
®

‘i"

g
| 1

|

Tl

11
]

T
I

.
-‘.
- ——

(L £}

-
|

o

00
&)
C1004 N C1004X3
4t C3002 &/ _
- C3001
\
C3001
C3002

C1802

23 24



	MSII铝合金底柜安装说明书_221229
	页 1
	页 2
	页 3
	页 4

	MSII4825
	MSII6025
	页 1
	页 2
	页 3
	页 4

	MSII7225
	页 1
	页 2
	页 3
	页 4




